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Mr Whoops’ Juggling Muddle!

Challenge Task

Which two spelling words hasn’t Mr Whoops muddled up? Could you use each of them in separate sentences that have parentheses in brackets?

Clumsy Mr Whoops has been juggling with this week’s inter- word family spellings and he’s got in a real juggling muddle! 
Could you help him to unjumble each word?
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Mr Whoops’ Juggling Muddle Answers

interfere

interloper

interject

interim

internal

intertwine

intersperse

interest

Challenge Task

Accept TWO subordinate clause sentences that contain ‘interrupt’ and ‘intercept’, e.g. Although she was trying her best not to interrupt, Ms Busybody (the nosiest person 
on the planet) couldn’t wait any longer to offer her opinion. AND Agent Seven (the world’s most secret spy) needed to intercept the suspicious package before it was 
too late. 

Which two spelling words hasn’t Mr Whoops muddled up? Could you use each of them in separate sentences that have parentheses in brackets?
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